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Candidates are required to give their answers in
their own words as far as practicable.

GROUP-A
o -
(Marks : 50)
1. Answer any four questions: 1x4=4
@I B A0ss Te 7S 2

1) Draw an indifference curve for two

complementary goods.

G #{f715S wee Wecer @2 o 51|
i1)  What is Giffen good?

forcze &<y HIC e 2

[Turn over]

iii)

What is utility?
Toifarel 5 e

What is the difference between GNP and
NNP?

GNP @ NNP-3 #{i<f5 52

v)  What is the substitute good for tea?
593 2If5a® Ty (@G 2
vi) Give an example of normal good.
I T G0 THiREe 7S |
Answer any six questions: 2x6=12

@~ 20 A e TS ¢

i)
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Give two examples of variable cost.

sAfaeTs R it Twzgd wie |

What is the value of elasticity in the mid-point

of'a demand curve?

bifeics 3 e FEfoglsieor i T &7
Define income elasticity of demand.

pifzviE SiRsTe Rfezisme Aewl we |

Define consumption.

I[QERIN-IRGICE



v)  What is production function?
TRV o (5 2
vi) Who is a price maker?
GEACRISNE
vii) Define per capita income.
oy SR A<es! 7l |
viil) Define indifference curve.
oo e sikes! mie |
3.  Answer any four questions: 6x4=24

-G oE AR T 7l ¢

)

iii)

1v)
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Discuss any one method of measuring

National Income of a country.

TSR % AT @ @ 9FH oiaf Sena
4|

Derive the long-run average cost curve from

short-run average cost curves.

=

FHEIIEA TG @A (A LA T @A
e =4

State the features of monopoly market.
GO A RS @1
Discuss the properties of indifference curve.

Saeers @R @erafE S 59|

[3] [Turn over]

Vi)

Discuss the three stages of production.

T3 foaIb @ SCED 3 |

How do you derive market demand curve from

individual demand curve?

Ffeare siftviEdl (A ol awe siftni
e I 2

Answer any one question: 10x1=10

- @F(6 AT Ted 718 ¢

i)

iii)
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Discuss the short-run equilibrium of a

monopoly market.

GFEHA ASIET TP SN SN F4 |

Critically analyse the Marginal Productivity
Theory of Distribution.

AT AP CeoARIETS] OCed AN EHAREE
[T 27l F |

Discuss the determinants of demand.

vifavz Mdeel SiEn 591



GROUP-B
Retet -2
(Marks : 50)

5.  Answer any four questions: 1x4=4

-G oE AR T 7l ¢

)

Vi)
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What is the full form of WTQO?
WTO-F 7t 713 (14 |

What was the time period of first five year

plan?

A SN AfHA RIe & feei 2
Write the full form of NABARD.
NABARD-43 =5} Ii% (14|

What is secondary sector of an economy?
EREICEARSIENe TR

What is demonetisation?

rqaesel 52

What is the full form of MGNREGA?
MGNREGA-43 #Jca1 15 {5 2
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6. Answer any six questions: 2x6=12

@~ 20 A e TS ¢

i)

vi)

vii)

Mention two institutional sources of rural

credit in India.

ICe ¥ el g6 afsPinere Ser s S
4|

Mention two limitations of the 'Green

Revolution' in India.

ot e KA 9 AeReel Srare 39|
What is Foreign Direct Investment?
eroyw ol fRifecnst <@ res & @rRie

What do you mean by 'Market Economy'?

Qeria LS Fe100 F (@i-t e

What do you mean by economic planning?

Gl HAfssat qe1ce T @Re
Name two indirect taxes.
G AT IR T (=T |

Write two problems of a Indian agriculture.

SIS FRE TG APPE See 79 |

viii) Give two examples of small scale industries.
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FHRe ER qio Sriga wis |
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7.  Answer any four questions: 6x4=24

-G oE AR T 7l ¢

i)

iii)

Vi)
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What are the causes of low productivity in

Indian agriculture?
ISR TR T G orols Sl @12 |

Discuss about the components of Green

Revolution.
e REARE CAMRS SETE 3 |

Write a short note on cooperative farming in

India.

ISR PRICS TR AN B F=ACE F<e Bl
@14 |

Discuss the main features of Indian tax system.

SR 4 AIZT AU ([ARB et SETve 4 |

Discuss the main causes of poverty in India.

SIS M auie FRafe SETv 54 |

What are the rationale of planning in India?

wiely wdAifers oA @ifewel 2
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8.  Answer any one question: 10x1=10

- @F(6 AT Ted 718 ¢

i)

iif)
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Discuss the causes and effects of Green

Revolution on Indian agriculture.

SIS FRCHE M@ KA I 8 LSRRI
D B |

Write a note on the Eleventh Five Year Plan of

India.
S0 AV AA2eITRIR AT 7T9IF DIl @71 |

Highlight the achievements and failure of Five-

Year planning in India.

CHCeq 2RI AfaFmag Ty ¢ gfolg
rafer S F41



